¥ERLINZ / Components

No. & ¥ / Part name #= / Pcs #E / Material & - REWIE / Color:Finish
1 IR 2 7 JLEHR A1050P MUIYILN - RE B -EEENE
Panel Aluminium A1050P Metallic silver+Painted ( Unfinished inside )
2 E—k 2 HH8— 1 7L A6063S-T5 MGYILN - REBE-EERLE
Heat-sink top cover Extruded aluminium A6063S-T5 Metallic silver:Painted ( Unfinished inside )
3 TH— 1 TILSHRHAT A6063S-T5 2 I NN - R E B -E R
Bottom frame Extruded aluminium A6063S-T5 Metallic silver-Painted ( Unfinished inside )
4 250073 vk 2 TILEHH A A6063S-T5 AUy —- REEE-EEELE
Flange bracket Extruded aluminium A6063S—-T5 Metallic silver*Painted ( Unfinished inside )
5 S—ILRH Rk 2 EE M- TPE ARy HTL—
Fabric—over-foam gasket Conductive fabric: TPE Metallic gray
6 R E RGRA 7T M4 X 10) 8 ATULR ALIE
Screw ( Hexagonal M4-10 ) Stainless steel Unfinished
7 TS5 EUTE R / Flange screw 4 £ / Steel ={lE- 02—k / Black trivalent chromate
8 75U BTk / Flange nut 4 £% / Steel =258 A—F / Black trivalent chromate
9 #£3iAT L2 / Rubber feet 4 2 1)ar 3 L / Silicone 7594 / Black

5
XOALBTEFEATBYEE A,
¢Rubber feet dimensions are not included.
AREHLMIH I EREROE(FEGKRNSHINFEM T ZIC)RELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.
4 /Title f\ |/|
TAKACHI| #ARUIDFEHIR 755 RAFE- VTN~ REMCY— b 547 O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. [F| ANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR =
7 R/ Approved t&[X/Checked #1[X]/Created B F /Product number RE/Scale
1:2
EXHFE19-4-13SS
iR KL FiE:N 1/ 6
YERL B /Date 2022/12/30




e B /Date

2022/08/05

@ MIIIIIIIIIIIUIIIIIIoTonunin &
186.5 4-M4AFE My}
4-M4Countersunk
B_B ( 1 . 3 ) 2 46
D B —>| I‘—-l
®
A A
o °
D B —>|
C-C(1:3) D-D(1:3)
_.Hf‘ 145 (©
ﬁﬂ © e
] I 173
A-A(1:3)
H = 149 18
175, - :
205 ] 18
S - 132 )
E(2:3) N '
detail E
EATLE M3 F vk 0 =
142
Rubber feet M3 nut '
14.5 ]A ~ 157.5
THE
— ) 170 F s/ Title e Yl
175 215 |7 . | . 05 TAKACHI] BRARMINFEHRIE 770V BATE=N VI TN —RAEMCY =V} 447 é} L
" ? JAII\\/I\;_I; M3 x 6 ‘ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. F| ANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR =
oren 185 752/ Approved 1%/ Checked #[/Created | 24 /Product number RE/Scale
EXHFE19-4-13SS '3
iR XiT fiE] A 2 /6




E—ki2% / Heat—sink top cover

o
N
, 185
, 173
SJ\.QI ] IQ(U .
\_P 1
4-M4
) T}
o N
8.6 140.4 8.6
149
177.5

17.5

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& &8/ Approved

iR

#&[X/Checked

XL

#[X/Created

il A

4 /Title
E—h L oh— o=
Heat-sink top cover

B4 /Product number RE/Scale
W185-D120 1:2

fERK B /Date 2022/08/05 3/°6




T#H7/\— / Bottom frame

177.5 ,
1.8
5 . 170 ,
| |
1.8
ED 180.5 Iy Q{
=T tvum Nnd) ©
o
0
4-Ma 142 N
157.5
11.5 162 11.5
173
185

120

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
THhiN—

Bottom frame

S
O

AR/ Approved

iR

#&[X/Checked

XL

#[X/Created

] A

& /Product number

W185-H42-D120

RE/Scale
1:2

{ERL B /Date 2022/08/05




INAR)L / Panel

D-D(1:2)
Bxh~Ti% / Max dim. 25.8
D 186.5
C-C(1:2)
<— C

1} D D

™»

<

l AN A &
Q:/ \‘.11
== C 425
E#~Ti% / Max dim. 170
A-M4AFR YN
4-M4 Countersunk
. 173 .
6.75
INRL
(o PR Panel 1
\/ O
o
(ap)

T\

F-F(1:2)
E-E(1:2)
<— [
F F
& 7\ ) &
\S ©
<— E
INRIL 2
(~ PR Panel 2
\/ \/ ‘
&/ &
ma/Title A —1
TAKACHI| #ASuaNFERTE 18RI O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. PANEL
& &8/ Approved & /Checked #1[X]/Created #IF /Product number RE/Scale
W186.5 — H43.5 1:2
iR fiE] A< A )
1 B /Date 2023/02/02 5 6




119.5

11.75 7,
| |
[ee) [e0]
— o
10
™»
[e0]
10
<t
< ) o\
[o0)
6-C2 16 2-23.2
46
292 168
‘ N
8 S I e | SR
0 ,‘14‘ 0
N —

B

14.5

M3Fy
M3 nut

~

ERATLE
Rubber feet

RYL~NYR M3 X6

Screw M3-6

——"—
mf/Title
TAKACHI] #ztaitanFEMTE S5, 5T5 ke O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
EXHFE19-O-13 1:2
i T A o e
1ERk B /Date 2022/08/05




	シートとビュー
	EXHFE19-4-13-モデル
	2
	3
	4
	5
	6


